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OUTEL#V: 467 INBELRV: 101316

(WP )
(- VNS 47 43 90 26.4 63.6 ANE
HEE IS sk 46 45 91 26.4 64.6 ANE
3 fr EEISS 48 53 101 36.0 65.0 ANE
4 I T 38 36 74 72 66.8 ANE
57 N 41 39 80 12.0 68.0 ANE
6 iz I A 50 54 104 36.0 68.0
7% Vol Lk 51 44 95 26.4 68.6 ANE
8 fir = H s 53 47 100 31.2 68.8
9 fiz WA BHIA 43 41 84 144 69.6
10 fiZ 2L U] 52 44 96 264 69.6 ANE
11 {7 A R 47 47 94 24.0 70.0
12 f7 B ST 48 44 92 21.6 70.4
13 iz A B 45 40 85 144 70.6
14 7 U =h 45 40 85 144 70.6
15 Bz EH R 41 44 85 144 70.6
16 7 ] A I — 53 54 107 36.4 70.6
17 7 —~>IK & 37 41 78 72 70.8
18 iz P 46 44 90 19.2 70.8
19 i1 o 42 41 83 12.0 71.0
20 7 o 1A 46 42 88 16.8 712 TRE
21 fr G A 40 41 81 9.6 714 R
22 fir [ GRS R 47 46 93 21.6 714
23 fir HH T ElEs 48 45 93 21.6 714
24 fif hnsk B 52 56 108 36.4 71.6
25 fir WAz 42 42 84 12.0 72.0
26 fir —EH 46 43 89 16.8 722
27 fir BN —5% 43 46 89 16.8 722
28 fir el WA 46 43 89 16.8 722
29 i KRAE HEH 48 46 94 21.6 724
30 iz Ak BH 45 42 87 144 72.6 TRE
31 fiz EEE IS 39 41 80 72 72.8
32 fir Bafap JBs 46 46 92 19.2 72.8
33 fir R 47 38 85 12.0 73.0
34 fir o ek 49 48 97 24.0 73.0
35 fir FH A = A8t 5 51 51 102 28.8 732
36 fiL G 50 45 95 21.6 734
37 iz PuifE Est 46 49 95 21.6 734
38 fif KB 2L 46 49 95 21.6 734 o HEE I
39 fiz R OCR 46 42 88 144 73.6
40 iz Ml T b 43 45 88 144 73.6 TRE
41 7 Byt )% 55 55 110 36.4 73.6
42 fr FE Hi 41 40 81 72 73.8
43 fir I A 39 52 9] 16.8 742
44 i1 Hh iy 48 41 89 144 74.6
45 fr K #1(5 44 45 89 144 74.6
46 1 LB 51 50 101 26.4 74.6
47 Bz /NI &5 47 54 101 26.4 74.6
48 i = 41 41 82 72 74.8
49 fr IR 20 44 43 87 12.0 75.0
50 i AH EB— 46 41 87 12.0 75.0 TRE
51 47 FHH B2 49 50 99 24.0 75.0
52 fir ek R 57 47 104 28.8 75.2 347
53 fir TR 53 51 104 28.8 752
54 fif )11 A 46 39 85 9.6 754
55 fvr 13w NE 51 46 97 21.6 754
56 fiL AL, i1 52 50 102 26.4 75.6
57 7 AKH: # 57 55 112 36.4 75.6
58 iz R B 43 40 83 72 75.8
59 iz K B 46 37 83 72 75.8
60 17 U320 A 48 47 95 19.2 75.8 TRE
61 iz me =X 49 46 95 192 75.8
62 fiL H ey 32 50 45 95 192 75.8
63 fir J11 87 =1 50 45 95 192 75.8
64 fir AL R 45 43 88 12.0 76.0
65 fir M ETREH 46 42 88 12.0 76.0
66 fir W1 K 48 45 93 16.8 76.2
67 7 LBy 53 52 105 28.8 76.2
68 {7 I &= 57 48 105 28.8 76.2
69 i1 BN 42 44 86 9.6 76.4
70 {7 M F47 43 43 86 9.6 76.4 TRE
71 7 TR 45 1 41 38 79 2.4 76.6
72 % N YN 51 52 103 26.4 76.6
73 1 I 4 49 47 96 192 76.8
74 i1 AT #HE 48 48 96 192 76.8
75 1 ffe % K il 44 45 89 12.0 77.0
76 fir HE % 44 45 89 12.0 77.0
77 iz B AR 53 48 101 24.0 77.0
78 fir Bl 75 = 55 46 101 24.0 77.0
79 fiz Al B 49 45 94 16.8 772
80 iz W) 1| Z8=% 48 46 94 16.8 77.2 TRE
81 iz IR 55 51 106 28.8 772
82 fir (/N RESE 51 55 106 28.8 77.2
83 iz AW S AN 56 48 104 26.4 77.6
84 fir IR RIES 54 55 109 31.2 77.8
85 iz ] 770 56 46 102 24.0 78.0
86 fir AN IS 43 40 83 4.8 78.2
87 {ir HEH: B 48 47 95 16.8 78.2
88 fir W =4 49 46 95 16.8 782
89 iz il 5 58 49 107 28.8 78.2
90 {7 M7 FF 52 48 100 216 784 TRE
91 fiz TEE R— 42 44 86 72 78.8
92 fir K R= 50 48 98 192 78.8
93 fir /INBR R 50 48 98 192 78.8
94 fif AT 3 49 54 103 24.0 79.0
95 fiz W 3K 49 54 103 24.0 79.0
96 i, MeRRE &K 48 48 96 16.8 79.2
97 fiz i)l 2k 49 59 108 28.8 79.2
98 {1 /N AT 46 43 89 9.6 794
99 fir N 52 49 101 21.6 794
100 iz A& 7 48 53 101 216 79.4 TRE
101 f7 BAREA 60 53 113 33.6 794
102 fi7 J11Gi A 57 56 113 33.6 794
103 {7 BT AET 50 44 94 14.4 79.6
104 £ - ECH] 48 46 94 14.4 79.6
105 {7 (ZE= LN 38 37 75 4.8 79.8
106 fiz LLTH S 49 50 99 192 79.8
107 fiz BT 15 42 38 80 0 80.0
108 fiz JFH #EE 49 43 92 120 80.0
109 £ AR B 50 42 92 12.0 80.0
110 £ PRI Sk 40 45 85 438 80.2 RE
111 {7 HrH 1S 44 46 90 9.6 80.4
112 {7 /INEE S 46 44 90 9.6 80.4
113 fif Al o 55 47 102 21.6 80.4
114 {7 JT 8 e 63 51 114 33.6 80.4
115 {7 J1 G, G 49 46 95 14.4 80.6
116 fi7 Gl JEHI 51 49 100 192 80.8
117 fiL gl f— 50 50 100 192 80.8
118 fif A H: TR 48 45 93 120 81.0
119 f7 7 ¥ 55 43 98 16.8 81.2
120 7 INA - 49 49 98 16.8 812 RE
121 7 NECE: 53 48 101 19.2 81.8
122 fir A =R 52 47 99 16.8 82.2
123 fi7 aH 2 47 45 92 9.6 82.4
124 7 R il 55 49 104 21.6 82.4
125 {7 Tl o4& 55 47 102 192 82.8
126 fif JE I AIE R 50 52 102 19.2 82.8
127 7 /IR TEAN 57 57 114 31.2 82.8
128 fi7 1T B 46 49 95 120 83.0
129 fi7 Ak 75— 63 56 119 36.0 83.0
130 7 =Y N 62 50 112 28.8 83.2 RE
131 7 Az 50 55 105 21.6 83.4
132 fif G £ 43 43 86 24 83.6
133 {7 W) 1 B3R 55 55 110 26.4 83.6
134 {7 )1 5 48 43 91 72 83.8
135 fi7 A IEA 45 46 91 72 83.8
136 fir = 50 53 103 192 83.8
137 7 miH Al Ehs 51 43 94 9.6 84.4
138 fif e A 51 48 99 144 84.6
139 fi7 V=N 57 59 116 31.2 84.8
140 fi7 el 3 44 41 85 0 85.0 =1
141 7 FH 51 46 97 12.0 85.0
142 fif e 5 48 49 97 12.0 85.0
143 {7 EUIRGE:S 56 53 109 24.0 85.0
144 i1 NITRIEPS 53 54 107 21.6 85.4
145 7 Ak 4B 51 47 98 12.0 86.0
146 fir WH ot 56 45 101 144 86.6
147 7 /N A — 40 42 82 -4.8 86.8
148 fif EL R AT RR 54 43 97 9.6 87.4
149 fi7 BA M= 45 45 90 2.4 87.6
150 7 FEAR — 59 55 114 26.4 87.6 RE
151 fif =g EE 59 55 114 26.4 87.6
152 fir NN 61 63 124 36.4 87.6
153 iz =G T 53 57 110 21.6 88.4
154 7 & % 59 66 125 36.4 88.6
155 7 e T 51 53 104 144 89.6
156 fiz LT e 53 50 103 12.0 91.0
157 {7 TR 62 53 115 21.6 93 4
158 iz T BT 69 64 133 36.0 97.0 BBH

159 iz Bl 4y 1- 89 85 174 40 4 133.6




